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Lösungen: The Story of a T-shirt
Fill in the gaps. 
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1. About 2 billion/two billion T-shirts are sold every year.
2. Farmers in cotton fields use chemicals/pesticides to protect plants but the pesticides also harm the environment/nature.
3. It takes 2,700 litres of water to produce one T-shirt.
4. The toxic water contaminates rivers and oceans.
5. Cadmium, lead, chrome and mercury are poisonous/harmful/toxic chemicals.
6. The Workers who sew the T-shirts do not earn high wages/well/much money/much.
7. 100 million tonnes of textiles are thrown away as waste every year.
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